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�� ∇f(x1, x2) =

(
6x1
4x32

)
�

�� f(xk) = 19� ∇f(xk) =

(
6

−32

)
� d = −∇f(xk) =

( −6
32

)
�

�� α xk + α · d f(xk + α · d) f(xk) + αβ∇f(xk)
Td

� �

( −5
30

)
����� �!���"

� ��� 

( −0.5
6

)
��!"��" �!��"� 

# ���"� 

(
0.625
0

)
������� �!�"�"� 

xk+1 =

(
0.625
0

)
�

$�

�� α xk + α · d f(xk + α · d) f(xk) + αβ∇f(xk)
Td

� �

(
0
0

)
� �!��

xk+1 =

(
0
0

)
�

%�

x =

(
0
0

)
� f(x) = 0�
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f(x) = f(x, y) = x2 + 2y2

�&��'����(� �()� $*�$)� %�� �+,(���*��� �����(��'� %��� +� %(��'� ��� %'-�� $(��� .

xk+1 = xk − αkDk∇f(xk),

(/

�� Dk = I �()� +&�+,(���*�� %� +� �+)� 0(��� ������

�� Dk = (∇2f(xk))
−1 �()� +&�+,(���*�� %� ��1�(��

�



�� �()� +&�+,(���*�� %� +� �+)� 0(��� ������ +� $(�%���(� %� 2(+0� ��3���� 4 .

f (xk − αk∇f(xk)) ≤ f(xk)− αβ∇f(xk)
T∇f(xk)

∇f(x) =

(
2x
4y

)
�� (� � %(�$ 5�-� %� ����+�-�� +� �(����(�� (� (��� +&��%�$� k� .

f(x− α∇f(x)) = (x− α2x)2 + 2(y − α4y)2 = x2(1− 2α)2 + 2y2(1− 4α)2

��

f(x)− αβ∇f(x)T∇f(x) = x2 + 2y2 − αβ(4x2 + 16y2)

6)�+7)�� �����)+���(�� �+,'���7)�� ���������� %� ��0(��)+�� +� $(�%���(� %� 2(+0� .

0 ≤ αk ≤ (1− β)
x2k + 4y2k
x2k + 8y2k

�()� x0 = (9 1)T �� β = 1/100� (� (������ .

5S0� 0 ≤ α0 ≤ 1, 044� �� $*(�������� α0 = 0.9�

x1 = x0 − 9
10∇f(x0) =

(
1− 81/5
9− 18/5

)
�

��� ��'����(�� �)�3����� �)�3��� +� �8�� �$*'�� %� $�+$)+�

�� �()� +&�+,(���*�� %� ��1�(�� +� $(�%���(� %� 2(+0� �&'$��� .

f
(
xk − αk(∇2f(xk))

−1∇f(xk)
) ≤ f(xk)− αβ∇f(xk)

T (∇2f(xk))
−1∇f(xk)

�� �����$� *�������� %� f ��� %(��'� ���

(
2 0
0 4

)
� ����� DK =

(
1/2 0
0 1/4

)
�

���9� 7)�+7)�� $�+$)+�� (� (������ .

0 ≤ αk ≤ 2(1 − β)

�� $*(�������� αk = 1/2� (� (������ +� �)��� %� �(���� %'-��� ��� xk+1 =
1
2xk�
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5�� �)$)�� ��$*��$*� +��'���� �&��� �:�$�)'�� �� �� %'�+�;��� %&)� ��� $(��+�� +� +(�, %� +�

%���$��(� %� +� �+)� 0(��� ����� �� xk� ���� �� ,������� 7)� +&(� � f(xk+1) < f(xk) <

5�� �� %���$��(� %� ��$*��$*� dk ��� $(������� �� �� 0��� ��� �����3���� %&��0(�����(�� �)� f <


� �&� %(�$ ��� +� ,������� 7)� dk $(�����)� )�� %���$��(� %� %��$���� �� xk �()� )��

0(�$��(� f 7)�+$(�7)��

5=� �� %���$��(� %� ��$*��$*� dk ��� +� %���$��(� %� +� �+)� 0(��� ��'$(�%���(��'� ��� )��

�����$� %��,(��+� %'-��� �(����3� �� $(�����)� %(�$ ���� )�� %���$��(� %� %��$����� ��

��$*��$*� +��'���� ���>�$�� %&����?( ��� ���� %'-��� �� �+ �>���� %�� ��� α 7)� ����+������

$���� $(�%���(��

5#� �� %���$��(� %� ��$*��$*� ��� +� %���$��(� %� ��1�(� �(%�-'� %� 0�;(� 4 (������ )�� %���$�
��(� %� %��$����� �� �:��� +� %'-����(� %) �(�%� 7)� +&(� ��� �)� +� %��,(��+� %� +� �����$�

*�������� ,������� +� %'-��� �(����3��' %� +� �����$� ����)��'�� @�� ��$*��$*� +��'���� �>�

�$�� ��� )��+��'� �()� %'�������� +� %'�+�$����� +� +(�, %� +� %���$��(� %� ��$*��$*��

�



5 � A&)�� ����� +� �)��� %�� %���$��(�� %� ��$*��$*� {dk}k∈N ���% 3��� � < A&�)��� ����� +�

�����9��� β '���� $*(��� 4 � %��� +� $(�%���(� %&����?(� �+ �&��� ��� �(����+� %� ��()3�� )�

��� α ����+������ $���� $(�%���(� <

5"� �� �'$)����$� %� $���� �'�*(%� ��� ��++� 7)� +� %���$��(� %� ��$*��$*� ����� ��� -��+�����

−dk� $� 7)� ����'����� +&(��(�' %� +� %���$��(� %� +� �+)� 0(��� ����� �� $(�����)� %(�$ )��

%���$��(� %� �(��'� <
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